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General Knowledge / açWýç»S pûçX / açWýçÌ[ýS pûçX

1. If American Film Industry is Hollywood, Bombay Film Industry is Bollywood, then Tollywood is the Film industry of -
^×V %çã]×»Eõç» ×Zõ_½ =ãVîçG c÷×_=Qö c÷Ì̂  %ç»Ó ]Ç¶‘öç+» ×Zõ_½ =ãVîçG [ý×_=Qö c÷Ì̂  åTöãÜ™ö Oô'×_=Qö Eõ'» ×Zõ_½ =ãVîçG ?
%çã]×Ì[ýEõçÌ[ý ×Zõ_½ =ãVîçG c÷×_=Qö, ]Ç¶‘öç+ãÌ̂ Ì[ý [ý×_=Qö, Oô×_=Qö XÝä»JôÌ[ý åEõçX×OôÌ[ý ?

a) Tripura b) West Bengal c) Tamilnadu d) New Delhi
×ÅyYÇ»ç / ×ÅyYÇÌ[ýç Y×¸Jô][ý† Töç×]_XçQÇö XTÇöX ×V{Ý

2. Which of the following age group is known as adolescent ?
Tö_» åEõçXäOôç [ýÌ̂ a GÐÓYEõ éEõã`ç» [ýÇ×_ åEõç¾ç c÷Ì̂  ?
XÝä»JôÌ[ý åEõçX [ýÌ^a GÐÓYãEõ éEõã`çÌ[ý [ý_ç c÷Ì̂  ?

a) 12 years to 18 years b) 12 years to 19 years c) 13 years to 18 years d) 13 years to 19 years
12 [ý$K÷»» Y»ç 18  [ý$K÷»ê_ 12 [ý$K÷»» Y»ç 19 [ý$K÷»ê_ 13  [ý$K÷»» Y»ç 18 [ý$K÷»ê_ 13 [ý$K÷»» Y»ç 19 [ý$K÷»ê_
12 [ý»da÷Ì[ý åUãEõ 18 [ý»da÷Ì[ý 12 [ý»da÷Ì[ý åUãEõ 19 [ý»da÷Ì[ý 13 [ý»da÷Ì[ý åUãEõ 18 [ý»da÷Ì[ý 13 [ý»da÷Ì[ý åUãEõ 19 [ý»da÷Ì[ý

3. 'Glaucoma' is a disease of :-
GÀÇ'Eõ]ç ×Eõc÷» å[ý]ç» ?
GÀÇãEõç]ç ̀ Ì[ýÝãÌ[ýÌ[ý åEõçX %eã`Ì[ý %aÇF ?

a) Ear b) Eye c) Nose c) Pancreas
EõçS» $JôEÇõ» XçEõ» %GÂç`Ì^»
EõçS æ»JôçF XçEõ %GÂç Ì̀̂

4. What is the age bar for IAS entrance ?
IAS (\öç»TöÝÌ̂  YÒ̀ ça×XEõ åa¾ç) Y»Ýlùç» [ýçã[ý a[ýï×X¶oö [ýÌ^a ×Eõ]çX ?
IAS YÌ[ýÝlùçÌ[ý LXî a[ýï×X¶oö [ýÌ̂ a EõTö ?

a) 18 yrs b) 21 yrs c) No age bar d) None of these
18 [ý$K÷» 21 [ý$K÷» åEõçãXç [ýÌ̂ a» aÝ]ç Xç+ +Ì^ç» AOôçC Xc÷Ì̂
18 [ý»da÷Ì[ý 21 [ý»da÷Ì[ý [ýÌ̂ ãaÌ[ý åEõçãXç aÝ]ç Xç+ AEõ×OôC XÌ^

5. Who among the following was the first to serve as Vice President as well as President of India ?
Tö_» åEõçXLX [ýî×NþãÌ̂  YÒU]ãTö =Y»çrÑôY×Tö %ç»Ó ×Y$K÷Tö \öç»Tö» »çrÑôY×Tö ×c÷$JôçãY åa¾ç %çG[ýRÍôç+×$K÷_ ?
XÝä»Jô åEõçX [ýî×Nþ a[ýïYÒU] \öçÌ[ýãTöÌ[ý =YÌ[ýçrÑôY×Tö A[ýe YãÌ[ý Ì[ýçrÑôY×Tö ×c÷ãaã[ý Eõç^ï a¶YçVX EõãÌ[ýX ?

a) Dr. Zakir Hussain b) V.V. Giri c) Neelam Sanjiva Reddy d) Dr. S. Radhakrishnan
Qöf Lç×Eõ» §ä$K÷+X ×\ö ×\ö ×G»Ý XÝ_] a×t¾ å»¯QöÝ Qöf a[ýïY{Ý »çWýçEÊõbÕX
Qöf Lç×EõÌ[ý §ãaX ×\ö ×\ö ×G×Ì[ý XÝ_] atÝ[ý åÌ[ý¯QöÝ Qöf a[ýïY{Ý Ì[ýçWýçEÊõbÕX
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6. Hiralal Kania was :-

×c÷»ç_ç_ EõçXÝÌ̂ ç åEõçX %ç×$K÷_ ?
×c÷Ì[ýç_ç_ Eõç×XÌ̂ ç åEõ ×»K÷ã_X ?

a) The first Chief Election Commissioner of India b) The first chief Justice of India
\öç»Tö» YÒU] ]ÇFî ×X[ýïç$JôX %çÌ̂ ÇNþ \öç»Tö» YÒU] ]ÇFî XîçÌ̂ çWýÝ`
\öçÌ[ýãTöÌ[ý YÒU] ]ÇFî ×X[ýïç»JôX Eõ×]`XçÌ[ý \öçÌ[ýãTöÌ[ý YÒU] ]ÇFî XîçÌ̂ çWýÝ`

c) The first Speaker of Lok Sabha d) None of these
å_çEõa\öç» YÒU] %Wýîlù AOôçC Xc÷Ì^
å_çEõa\öçÌ[ý YÒU] %Wýîlù AEõ×OôC XÌ^

7. April 22 is observed as :-
22  A×YÒ_Eõ ×Eõ ×V¾a ×c÷$JôçãY Yç_X Eõ»ç c÷Ì̂  ?
22 A×YÒ_ãEõ ×Eõ ×V[ýa ×c÷açã[ý Yç_X EõÌ[ýç c÷Ì̂  ?

a) National Civil Services Day b) Press Freedom Day
»çrÑôÝÌ̂  åa¾ç ×V¾a ae[ýçV Ø‘öçWýÝXTöç ×V¾a
Ì[ýçrÑôÝÌ̂  %aç]×Ì[ýEõ åa[ýç ×V[ýa ae[ýçV Ø‘öçWýÝXTöç ×V¾a

c) Earth Day d) World Health Day
Wý×»yÝ ×V¾a ×[ý`Ÿ Ø‘öçØšöî ×V¾a
YÊ×U[ýÝ ×V¾a ×[ý`Ÿ Ø‘öçØšöî ×V¾a

8. Who among the following Noble Laurate was not present in the Nobel Prize Award Ceremony in 2010 ?
Tö_» åEõçXLX åXçã[ý_ [ýgOôç ×[ýLÌ̂ Ý 2010 $JôX» åXçã[ý_ [ýgOôç ×[ýTö»SÝ a\öçTö =Y×ØšöTö Xç×$K÷_ ?
2010 aãXÌ[ý åXçã[ý_ YÇÌ[ý•õçÌ[ý ×[ýTöÌ[ýS a\öçÌ̂  XÝä»JôÌ[ý åEõçX åXçã[ý_ YÇÌ[ý•õçÌ[ý ×[ýLÌ̂ Ý %XÇY×ØšöTö ×»K÷ã_X ?

a) Robert Edwards (Br) b) Marion Vargas Elosa c) Liu Xiaobo d) Prof. Peter Diamond
»[ýçOôÛ AQö¾çQïö ]ç×»Ì̂ çX \öç»ãG$K÷ +ã_ç$K÷ç _Ç+ ×LÌ^ç[ýçC %WýîçYEõ ×YOôç» QöçÌ̂ ]‰ø
Ì[ý[ýçOôÛ AQöCÌ^çQïö ]ç×Ì[ýÌ̂ çX \öçÌ[ýGç»K÷ +ã_ç»K÷ç _Ç+ ×LÌ^ç[ýçC %WýîçYEõ ×YOôçÌ[ý QöçÌ̂ ]‰ø

9. The song 'Dil To Baccha Hai Ji' from the film 'Ishqiya' is sung by -
+`ŸEõÝÌ̂ ç ×Zõ_½» "×V_ åTöç [ý¬K÷ç c÷îçÌ̂  LÝ' GçXäOôç åEõçãX Gç+×$K÷_ ?
+aËEõÝÌ^ç »K÷×[ýÌ[ý "×V_ åTöç [ýç¬Jôç c÷îçÌ̂ LÝ' GçX×OôÌ[ý GçÌ̂ Eõ åEõ ×»K÷_ ?

a) Sankar Mahadevan b) Rahat Fateh Ali khan c) Shaan d) Mohit Chauhan
`eEõ» ]c÷çãV¾X »çc÷Tö ZõãTöc÷ %ç×_ FçX Ÿ̀çX å]ç×c÷Tö æ$Jôìc÷çX
`eEõÌ[ý ]c÷çãV[ýS Ì[ýçc÷Tö ZõãTöc÷ %ç×_ FçX `çX å]ç×c÷Tö æ»Jôìc÷çX

10. 'Shylock' - a character in a play of Shakespeare is from :-
"`Ÿç+_Eõ' Xç]» $Jô×»yäOôç å`jYÝãÌ̂ »» åEõçXFX XçOôEõTö åYç¾ç ̂ çÌ̂  ?
ã`jYÝãÌ̂ ãÌ[ýÌ[ý aÊrô »Jô×Ì[ýy "`ç+_Eõ' XÝä»JôÌ[ý åEõçX XçOôãEõ YçCÌ̂ ç ̂ çÌ^ ?

a) Hamlet b) The Merchant of Venice   c) Romeo Juliet d) Twelfth Night
åc÷]ã_Oô ]çä$JôÛ³Oô %¾ å\ö×X$Jô å»ç×]C  LÇ×_ãÌ̂ Oô OÇôã¾_ZõU Xç+Oô
c÷îç]ã_Oô ]çä»JôÛ³Oô %[ý å\ö×Xa åÌ[ýç×]C LÇ×_ãÌ̂ Oô OÇôãÌ̂ _ZõU Xç+Oô
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11. The maximum number of Scheduled Tribe people, according to 2010 status, is in

2010 $JôX» GSXç %XÇ̂ çÌ̂ Ý åEõçXFX YÒãV`Tö a[ýïç×WýEõ %XÇaÇ×$JôTö LXLç×Tö» å_çãEõ [ýa[ýça Eõã» ?
2010 aãXÌ[ý å_çEõ GSXç %XÇ̂ çÌ̂ Ý \öçÌ[ýãTöÌ[ý åEõçX Ì[ýçãLî a[ýïç×WýEõ %XÇaÉ×»JôTö LXLç×TöÌ[ý å_çEõ [ýa[ýça EõãÌ[ý ?

a) Orissa b) Madhya Pradesh c) Rajasthan d) Jharkhand
=×»bîçTö ]Wýî YÒãV`Tö »çLØšöçXTö MõçQÍöF‰øTö
=×QÍöbîç ]WýîYÒãV` Ì[ýçLØšöçX MõçQÍöF³Qö

12. The only person to win both the Nobel Award and The Oscar Award is -
åXçã[ý_ %ç»Ó %•õç» [ýgOôç ×[ýLÌ̂ Ý AEõ]çy [ýî×NþLX åEõçX ?
AEõ]çy [ýî×Nþ ×^×X "åXçã[ý_' A[ýe "%•õçÌ[ý' - A+ VÇ×Oô+ YÇÌ[ý•õçÌ[ý YçX -

a) George Bernard Shaw b) Rudyard Kipling
LLÛ [ýçSïçQïö ̀ Ÿ' »ÓVÌ̂ çVÛ ×EõY×_e

Ì[ýÓVÌ̂ çVÛ ×EõY×_e
c) Rabindranath Tagore d) Satyajit Roy

»[ýÝ³VÐXçU PöçEÇõ» aTöî×Ld »Ì̂
Ì[ý[ýÝ³VÐXçU PöçEÇõÌ[ý aTöî×Ld Ì[ýçÌ̂

13. In which of the following denomination of Indian Paper currency the picture of 'Dandi March' is depicted ?
\öç»Tö» ×Eõ]çX OôEõç» åXçOôTö Vç×‰ø ^çyç» $K÷×[ý %çä$K÷ ?
\öçÌ[ýãTöÌ[ý EõTö OôçEõçÌ[ý åXçäOô Vç×‰ø ̂ çyçÌ[ý »K÷×[ý åVCÌ̂ ç %çä»K÷ ?

a) 50 rupees b) 100 rupees c) 500 rupees d) 1000 rupees
50 OôEõç» åXçOôTö 100 OôEõç» åXçOôTö 500 OôEõç» åXçOôTö 1000 OôEõç» åXçOôTö
50 OôçEõçÌ[ý åXçäOô 100 OôçEõçÌ[ý åXçäOô 500 OôçEõçÌ[ý åXçäOô 1000 OôçEõçÌ[ý åXçäOô

14. An object weighs maximum in :
[ýºwø AOôç» CLX Eõ'Tö a[ýïç×WýEõ c÷'[ý ?
AEõ×Oô [ýºwøÌ[ý CLX a[ýïç×WýEõ c÷Ì̂  -

a) Air b) Water c) Hydrogen d) Vaccum
[ýçÌ̂ ÇTö YçXÝTö c÷ç+QÎö'ãLXTö [ýçÌ^Çc÷ÝXTöçTö
[ýçÌ̂ ÇãTö Lã_ c÷ç+QÎöãLãX [ýçÌ̂ Çc÷ÝXTöçÌ^

15. In India the Income Tax is a form of -
\öç»TöTö %çÌ̂ Eõ» ×Eõ Yˆù×Tö» ?
\öçÌ[ýãTö %çÌ̂ EõÌ[ý ................ Yˆù×TöÌ[ý

a) Indirect and progressive in nature b) Direct and Progressive in nature
Yã»çlù ×Eõ³wø YÒG×Tö`Ý_ YÒTöîlù %ç»Ó YÒG×Tö`Ý_
YãÌ[ýçlù ×Eõ³wø YÒG×Tö`Ý_ YÒTöîlù A[ýe YÒG×Tö`Ý_

c) Direct but static in nature c) Indirect but static in nature
YÒTöîlù ×Eõ³wø ×Øšö» Yã»çlù ×Eõ³wø ×Øšö»
YÒTöîlù ×Eõ³wø ×ØšöÌ[ý YãÌ[ýçlù ×Eõ³wø ×ØšöÌ[ý
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16. The Directive Principles of State Policy have been borrowed from the constitution of -
\öç»Tö» »çrÑô ×XãVÛ̀ Eõ XÝ×Tö a]Çc÷ åEõçX åV`» ae×[ýWýçX» Y»ç %çc÷»S Eõ»ç éc÷ä$K÷ ?
\öçÌ[ýãTöÌ[ý Ì[ýçrÑô ×XãVÛ̀ Eõ XÝ×Töa]Éc÷ åEõçX åVã`Ì[ý ae×[ýWýçX åUãEõ åXCÌ̂ ç c÷+Ì̂ çä»K÷ ?

a) Ireland b) Canada c) UK d) USA
%çÌ̂ ç»ã_‰ø / %çÌ̂ çÌ[ýã_‰ø EõçXçQöç +=Xç+äOôQö ×EõeQö] %çã]×»Eõç ̂ ÇNþ»çrÑô /%çã]×Ì[ýEõç ̂ ÇNþÌ[ýçrÑô

17. When we see the mark 'ISI', we immediately think of the quality assurance of this product. What does 'ISI' stands for  ?
åEõçãXç aç]GÐÝTö 'ISI' ×$Jôc÷Ô åVFç ]çäy+ aç]GÐÝ×[ýWý mSGTö ]çXV‰ø» c÷'[ý [ýÇ×_ Wýç»Sç c÷Ì̂ * A+ ISI » %Uï c÷'_ ?
åEõçãXç aç]GÐÝãTö 'ISI' ×»Jôc÷Ô åVFç ]çy+ aç]GÐÝÌ[ý mXGTö ]çXVã‰øÌ[ý EõUç %ç]çãVÌ[ý ]ãX %çãa* A+ 'ISI' AÌ[ý %Uï c÷+_ -

a) Inter Service Intelligence b) Indian Standard Institute
+³Oôç» $Jôç×\öÛ$Jô +ä³Oô×_ãL‡û +×‰øÌ^çX ærô‰øçQïö +³a×Oô×Oô=Oô
+³OôçÌ[ý aç×\öÛa +ä³Oô×_ãL³a

c) International Special Institute d) Indian Special Intelligence
+³Oôç» åX Ÿ̀ãX_ å&×$JôÌ^ç_ +³a×Oô×Oô=Oô +×‰øÌ^çX å&×$JôÌ̂ ç_ +ä³Oô×_ãL‡û
+³OôçÌ[ý åX`ãX_ å&×`Ì^ç_ +³a×Oô=Oô +×³QöÌ̂ çX å&× Ì̀̂ ç_ +ä³Oô×_ãL³a

18. Sahir Ludhianvi, Hasrat Jaipuri, Majrooh Sultanpuri and Shaqeel Badauni belong to the group of -
$K÷ç×c÷» _Ç×WýÌ̂ çX\öÝ, c÷$K÷»Tö LÌ̂ YÇ»Ý, ]L»Óc÷ $JÇô_TöçX YÇ»Ý %ç»Ó ̀ ŸEõÝ_ [ýçVç=XÝ ×Eõ Eõç]» _GTö L×QÍöTö?
aç×c÷Ì[ý _Ç×WýÌ̂ çX×\ö, c÷aÌ[ýTö LÌ̂ YÇÌ[ýÝ, ]LÌ[ýÓc÷ aÇ_TöçXYÇÌ[ýÝ A[ýe ̀ ŸçEõÝ_ [ýçVç=XÝ AãVÌ[ý Y×Ì[ý×»Jô×Tö ×Eõ ×c÷açã[ý ?

a) Music Director b) Film Director c) Script Writer d) Lyricist
aeGÝTö Y×»$Jôç_Eõ EõUç$K÷×[ý Y×»$Jôç_Eõ ×$JôyXçOôîEõç» GÝ×TöEõç»
a†ÝTö Y×Ì[ý»Jôç_Eõ EõUç»K÷×[ý Y×Ì[ý»Jôç_Eõ ×»JôyXçOôîEõçÌ[ý GÝ×TöEõçÌ[ý

19. 'Eco' - Mark is given to an Indian Product which is -
\öç»Tö» åEõçX Wý»S» aç]GÐÝTö Eco (+ãEõç) ×$Jôc÷Ô =ä{F UçãEõ ?
\öçÌ[ýãTöÌ[ý åEõçX WýÌ[ýãXÌ[ý aç]GÐÝãTö Eco (+ãEõç) ×»Jôc÷Ô åVCÌ̂ ç c÷Ì̂  ?

a) Rich in protein b) Environment friendly c) Economically viable d) Pure and unadulterated
=¬K÷ YÒ'×OôX^ÇNþ Y×»ã[ý` %XÇEÉõ_ %ç×UïEõ\öçã[ý Y×»`Ý×_Tö ×[ý£ˆù %ç»Ó ×Xã\öÛLç_
=¬Jô YÒ×OôX Ç̂Nþ Y×Ì[ýã[ý` %XÇEÉõ_ %ç×UïEõ\öçã[ý Y×Ì[ý`Ý×_Tö ×[ý£ˆù A[ýe ×Xã\öÛLç_

20. The Province of India that shares its boundary with three countries :-
\öç»Tö» åEõçX »çLî» aÝ]ç %+X ×Tö×XFX åV`» _GTö _ç×G %çä$K÷ ?
\öçÌ[ýãTöÌ[ý åEõçX Ì[ýçãLîÌ[ý aÝ]ç ×TöX×Oô ×[ýãV`Ý Ì[ýçãLîÌ[ý açãU ae_GÂ ?

a) Assam b) West Bengal c) Mizoram d) Manipur
%a] Y×¸Jô][ý† ×]ãLç»ç] ]×XYÇ»
%çaç] Y×¸Jô][ý† ×]ãLçÌ[ýç] ]×XYÇÌ[ý
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21. Which of the following Akademics is responsible for fostering the development of dance, drama and music in India ?

Tö_Tö ×VÌ̂ ç åEõçX AEõçãQö]Ý \öç»TöTö XÊTöî, XçOôEõ %ç»Ó aeGÝTö» =dEõbï» _GTö L×QÍöTö ?
XÝä»JôÌ[ý åEõçX AEõçãQö]Ý \öçÌ[ýãTöÌ[ý XÊTöî, XçOôEõ A[ýe aeGÝãTöÌ[ý =dEõbïÌ[ý açãU L×QÍöTö ?

a) Lalit Kala Akademi b) Sahitya Akademi c) National School of Drama             d)  Sangeet Akademi
_×_Tö Eõ_ç AEõçãQö]Ý aç×c÷Töî AEõçãQö]Ý »çrÑôÝÌ̂  XçOôî ×[ýVîç_Ì̂ /Ì[ýçrÑôÝÌ̂  XçOôî ×[ýVîç_Ì̂    aeGÝTö AEõçãQö]Ý

22. Which one of the following is not an organ of U.N.O. ?
Tö_» åEõçXäOôç »çrÑôaeH» %eG Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô Ì[ýçrÑôaãHÌ[ý %eG XÌ^ ?

a) Security Council b) I.M.F c) International Court of Justice d) General Assembly
×X»çYwøç Y×»bV %çÜ™öLÛç×TöEõ ]ÇVÐçãEõçb %çÜ™öLÛç×TöEõ XîçÌ̂ ç_Ì̂ açWýç»S Y×»bV
×XÌ[ýçYwøç Y×Ì[ýbV %çÜ™öLÛç×TöEõ ]ÇVÐçãEõçb %çÜ™öLÛç×TöEõ XîçÌ̂ ç_Ì̂ açWýçÌ[ýX Y×Ì[ýbV

23. The unit used to measure supersonic speed is -
%×Tö ̀ ç×ŒEõ G×TöEõ LÇ×F[ýê_ ×Eõ AEõEõ [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
%×Tö`ç×ŒEõ G×Tö ]çYãTö ×Eõ AEõEõ [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  ?

a) Knots b) Mach c) Richter d) Hertz
XOô$KË÷ / XOôa å]Eõ ×»FOôç» / ×Ì[ýFOôçÌ[ý c÷çOôÛL

24. 'Come out and Play' was the motto of -
"Eõç] %ç=Oô A‰ø æYÀ' (Come out and Play) ×Eõc÷» ]Ü—ö %ç×$K÷_ ?
"Eõç] %ç=Oô A[ýe æYÀ' ]Ü—ö×Oô ×EõãaÌ[ý açãU L×QÍöTö ?

a) 2011 World Cup Cricket b) Commonwealth Games, 2010
2011 ×[ý`ŸEõçY ×yÔãEõOô 2010 Eõ]X å¾_U åG]$K÷

2010 Eõ]XCãÌ̂ _U åG]»a

c) FIFA World Cup 2010 d) 34th National Games, Jharkhand
2010 ×[ý Ÿ̀EõçY ZÇõOô[ý_ 34 Tö] »çrÑôÝÌ̂  åG]$KË÷, Mõç»F‰ø

34 Tö] Ì[ýçrÑôÝÌ̂  åG]a, MõçÌ[ýF³Qö

25. The Gorkhas are the original inhabitants of :-
åGçFïçaEõ_ ]É_Töf Eõ'» %×Wý[ýçaÝ ?
åGçFïçÌ[ýç ]É_Töf åEõçUçEõçÌ[ý %×Wý[ýçaÝ ?

a) Nepal b) Bhutan c) Tibet d) Myanmar
åXYç_ \ÇöOôçX ×Tö[[ýTö ]îçÌ̂ çX]ç» / ]îçX]çÌ[ý

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(6)

General English

26 Identify the sentence that is incorrect.
a) The news is true b) Many a man has done so
c) Each of these substances are found in India. d) The wages of sin is death.

Fill up the blanks with the appropriate choice given in the options.
27 Though courageous , he could not  ----------------  against the heavy odds.

a) Hold up b) hold out c) hold in d) hold fast

28 He has been growing weaker  and his life now  -----------------.
a) Hangs on a thread b) hangs with a thread c)   hangs like a thread d) hangs by a thread.

29. He is very active and will finish the work  ----------------------- .
a) Without taking time b) at no time c) within no time d) in no time.

30. The members of his family are coming  ------------  this train.
a) in b) on c) by d) with

31. Education is a   -------------- instrument  for moulding the character of the young.
a) Strong b) potent c) striking d) powerful.

32. His name has become a  synonym ……………..  evil.
a) with b) of c) for d) to

33. This rule is applicable ---------------  everyone.
a) to b) for c) with d) on

34. The operation ------- immediately after the cease-fire proposal  was -------- bilaterally.
a) began, signed b) started, prepared c) ended, accepted d) receded, exchanged

35. ---------  of crops was due to  continuous  ----------  .
a) destruction, draught b) failure, drought c) damage, draft d) ruin, draught.

36. We can  --------- to travel by air , but we ---------- train journey.
a) plan , enjoy. b) afford , prefer c) hope,  opt d) wish, fear

37.He has taken an interest ----- film making.
a) to b) for c) in d) at
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Pick out the part that can complete the sentence.
38. 'Where are my spectacles ? '  ………….   .

a) There are they, on your nose. b) There they are, on your nose.
c) Here are they, on your nose d) Here they are, on your nose.

39. The doctor warns him that unless he gives up smoking  ……………….   .
a) he will not suffer. b) his health will be recovered.
c) will he be able to recover d) he will not recover.

The sentence given here in Active Voice will be changed to which of the following  in Passive Voice ?
40. Who teaches you English ?

a) English is taught by whom ? b) By whom are you taught English ?
c) By whom were you taught English? d) By whom you are taught English ?

Choose the word nearest in meaning to the word in italics
41. The flat has been refurbished recently.

a) White-washed b) painted c) renovated d) repaired.

42. He is a good looking but insipid young man.
a) arrogant b) sick c) unscrupulous d) lacking in spirit.

Choose the word that is opposite in meaning to the word in italics
43. His urbane attitude won him many friends.

a) polished b) refined c) rude d) rustic

44. Our knowledge of the past  is still largely a matter of conjecture.
a) certainty b) guess c) probability d) agreement

Pick out the correct meaning of the idiom in bold letters.
45. India carried the day in the test match against Australia.

a) was defeated b) drew the match c) became victorious. d) made useless efforts

46. When his party split in to two  Ramesh was accused of sitting on the fence.
a) worked secretly to cause the split. b) Told his supporters to  form a new group.
c) did not commit himself and remained neutral. d) Looking at everything from behind the fence.

In each of the following questions five words are given, out of which four are same in one way and the fifth one is
different from others. Select the odd one.
47. a) potrait                        b)   snapshot                   c)   diagram                 d)  sketch           e)   painting

48. a) secretary                   b)   council                       c)  panel                      d)  cabinet           e)  committee.

Create PDF files without this message by purchasing novaPDF printer (http://www.novapdf.com)

http://www.novapdf.com
http://www.novapdf.com


(8)
49. Look at this series: 36, 34, 30, 28, 24, . . . What number should come next?

a) 20 b) 22 c) 23 d) 26

50. Which word does NOT belong with the others?
a) excite b) flourish c) prosper d) thrive

General Mathematics / açWýç»S G×STö / açWýçÌ[ýS G×STö

51. Set of natural numbers is a subset of .............
Ø‘öç\öç×¾Eõ aeFîç» aec÷×Tö .................... » =Yaec÷×Tö*
Ø‘öç\öç×[ýEõ aeFîçÌ[ý aec÷×Tö ................... Ì[ý =Yaec÷×Tö*

a) Set of even numbers b) Set of odd numbers c) Set of  composite numbers d) Set of real numbers
^ÇG½ aeFîç» aec÷×Tö %^ÇG½ aeFîç» aec÷×Tö $å^ì×GEõ aeFîç» aec÷×Tö [ýçØ™ö¾ aeFîç» aec÷×Tö
^ÇG½ aeFîçÌ[ý aec÷×Tö %^ÇG½ aeFîçÌ[ý aec÷×Tö $å^ì×GEõ aeFîçÌ[ý aec÷×Tö [ýçØ™ö[ý aeFîçÌ[ý aec÷×Tö

52. The Value of a+ a -b

a +b +b

2 2

2 2
 + a +b2 2a +b2 2 -b

a  a b- -2 2  » ]çX /  AÌ[ý ]çX

a) a
b

2
2 b) b

a

2
2 c)

a
b d) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

53. The sum of additive inverse and multiplicative inverse of 2 is ...............
2 » å^çGç±ÁEõ ×[ýY»ÝTö aeFîç %ç»Ó mSç±ÁEõ ×[ýY»ÝTö aeFîç» å^çGZõ_ ......................
2 AÌ[ý å^çGç±ÁEõ ×[ýYÌ[ýÝTö aeFîç A[ýe mXç±ÁEõ ×[ýYÌ[ýÝTö aeFîçÌ[ý å^çGZõ_ ..........................

a) 3
2

b) -3
2

c) 1
2
1
2

d) -1
2

54. If the factors of a2+b2+2(ab+bc+ca) are (a+b+m)  and (a+b+nc), then the value of m+n is ................
^×V a2+b2+2(ab+bc+ca) » =dYçVEõ (a+b+m) %ç»Ó (a+b+nc) c÷Ì̂ , åTöãÜ™ö m+n » ]çX ........................
^×V a2+b2+2(ab+bc+ca) AÌ[ý =dYçVEõ (a+b+m) A[ýe (a+b+nc) c÷Ì̂ , Töã[ý m+n AÌ[ý ]çX .....................

a) 0 b) 2 c) 4 d) 6

55. If (^×V) a+b+c = 0, then (åTöãÜ™ö) a
bc

2
+ b

ca

2
 + c

ab

2
= ....................

^×V a+b+c = 0, Töã[ý a
bc

2
+ b

ca

2
 + c

ab

2
= ....................

a) 1 b) 2 c) 3 d) 4
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56. If 117+47 is divided by 15 then the remainder is ...............
117+47 Eõ 15 å» ×[ý\öçLî Eõ×»ã_ \öçGã`b c÷[ý ........................
117+47 åEõ 15 ¥çÌ[ýç ×[ý\öçLî Eõ×Ì[ýã_ \öçGã`b c÷+ã[ý ................

a) 0 b) 1 c) 2 d) - 2

57. An equation of the  form ax+by+c = 0, where a,b are non-zero numbers represents ...........
ax+by+c = 0  a]ÝEõ»S» a %ç»Ó b %`ÉSî aeFîç c÷ã_, a]ÝEõ»SäOôçã¾ .............. Eõ [ýÇLç[ý*
ax+by+c = 0 a]ÝEõÌ[ýãS a A[ýe b %`ÉXî aeFîç c÷+ã_, a]ÝEõÌ[ýS×Oô ................. [ýÇMõçã[ý*

a) a straight line b) a circle c) a triangle d) a quadrilateral
AQöç_ a»_ å»Fç AOôç [ýÊwø AOôç ×Åy\ÇöL AOôç $JôTÇö\ÇöÛL
AEõ×Oô aÌ[ý_ãÌ[ýFçãEõ AEõ×Oô [ýÊwøãEõ AEõ×Oô ×Åy\ÇöLãEõ AEõ×Oô $JôTÇö\ÇöÛL

58. In the figure find x if AB II CD
YÒVwø ×$Jôy» AB II CD c÷ã_ x » ]çX ×XSïÌ̂  Eõ»ç -
YÒVwø ×»Jôäy AB II CD c÷+ã_ x AÌ[ý ]çX c÷+ã[ý ....................*

a) 450 b) 550

c) 600 d) 700

59. Number of angles formed by transversal with a pair of lines .............
æ$JôVãEõ Aã^ç» å»Fç» _GTö =dY~ Eõ»ç åEõçS» aeFîç .................
å»\öVãEõÌ[ý AEõãLçQÍöç åÌ[ýFçÌ[ý a×c÷Tö =dY~ EõÌ[ýç åEõçãSÌ[ý aeFîç ...................

a) 6 b) 4 c) 8 d) 3

60. In the figure given below, find z
Tö_Tö ×VÌ̂ ç ×$Jôy» Y»ç z » ]çX ×XSïÌ̂  Eõ»ç*
XÝä»Jô åVCÌ̂ ç ×»Jôäy z AÌ[ý ]çX ×XSïÌ̂  EõÌ[ý
a) 400 b) 1100

c) 450 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

61. In which of the following quadrilaterals the adjacent sides  are not necessarily be equal ?
Tö_» åEõçXäOôç JôTÇö$\ÇöÛL» a×~×c÷Tö [ýç§ã[ýç» a]çX Xc÷[ýC Yçã» ?
XÝä»JôÌ[ý åEõçX×Oô JôTÇö\ÇöÛãLÌ[ý a×~×c÷×Tö [ýç§m×_ a]çX XçC c÷+ãTö YçãÌ[ý ?

a) Square b) Parallelogram c) Rectangle d) Both 'b' & 'c'
[ýGï aç]çÜ™ö×»Eõ %çÌ̂ Töãlùy 'b' %ç»Ó 'c' =\öÌ̂
[ýGï aç]Ü™ö×Ì[ýEõ %çÌ̂ Töãlùy 'b' A[ýe 'c' =\öãÌ̂ +
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62. In a rhombus ABCD, A = 600 and AB = 6 cm. Find the diagonal BD.
ABCD »¶‘öç$Jô» A = 600 %ç»Ó AB = 6 æ$K÷f ×]f c÷ã_, BD EõSï» ]çY ×XSïÌ̂  Eõ»ç*
ABCD Ì[ý¶‘öãaÌ[ý A = 600 A[ýe AB = 6 åa.×]. BD EõãSïÌ[ý ]çX ×XSïÌ̂  EõÌ[ý

a) 2 cm/ æ$K÷f×]f/ åaf×]f b) 6 cm/ æ$K÷f×]f/ åaf ×]f c) 12 cm / æ$K÷f×]f/ åaf ×]f d) Insufficient data
%a¶YÉSï TöUî

63. A  Parallelogram and a rectangle are on the same base and between the same parallel lines. Then the perimeter of
the rectangle is ...............
AãEõ \Éö×] ×[ý×`rô AOôç aç]çÜ™ö×»Eõ %ç»Ó AOôç %çÌ̂ Töãlùy AãEõ a]çÜ™ö»ç_ [ýç§» ]çLTö %[ý×ØšöTö c÷ã_, %çÌ̂ TöãlùyäOôç» Y×»aÝ]ç .................
AEõ+ \Éö×] ×[ý×`rô AEõ×Oô aç]Ü™ö×Ì[ýEõ A[ýe AEõ×Oô %çÌ̂ Töãlùy AEõ+ a]çÜ™öÌ[ýç_Ì[ý [ýç§Ì[ý ]ãWýî %[ý×ØšöTö c÷+ã_, %çÌ̂ Töãlùy×OôÌ[ý Y×Ì[ýaÝ]ç ..............

a) equal to the perimeter of the parallelogram b) Greater than the perimeter of the parallelogram
aç]çÜ™ö×»Eõ» Y×»aÝ]ç» a]çX aç]çÜ™ö»×Eõ» Y×»aÝ]çTöêEõ å[ý×$K÷
aç]Ü™ö×Ì[ýãEõÌ[ý Y×Ì[ýaÝ]ç a]çX aç]Ü™ö×Ì[ýãEõÌ[ý Y×Ì[ýaÝ]çãUãEõ å[ý`Ý

c) Less than the perimeter of the parallelogram d) None of these
aç]çÜ™ö×»Eõ» Y×»aÝ]çTöêEõ Eõ] AOôçC Xc÷Ì^
aç]Ü™ö×Ì[ýãEõÌ[ý Y×Ì[ýaÝ]ç åUãEõ Eõ] AEõ×OôC XÌ^

64. If PQRS is a cyclic trapezium in which PQ II SR and P = 820. Find S
PQRS $JôyÔÝÌ̂  æ®ÏôãY×LÌ̂ ç]» PQ II SR %ç»Ó P = 820 c÷ã_ S » ]çX ×XSïÌ̂  Eõ»ç*
PQRS »JôyÔÝÌ̂  æ®ÏôãY×LÌ̂ çã]Ì[ý PQ II SR A[ýe P = 820 c÷+ã_ S AÌ[ý  ]çX ×XSïÌ̂  EõÌ[ý*

a) 980 b) 1080 c) Data not sufficient d) None of these
%a¶YÉSï TöUî AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

65. The top of a broken tree touches the ground at a distance of 15 m from its base. If the tree is broken at a height of 8
m from the ground, then the actual height of the tree is ...............
AãLçYç G$K÷» \öIøç %GÐ\öçãG m×»» Y»ç 15 ×]f VÇ»Tö \Éö×] &`ï Eõ×» %çä$K÷* ^×V G$K÷ãLçYç ]ç×Oô» Y»ç 8 ×]f =¬JôTöçTö \öçãIø; åTöãÜ™ö
G$K÷ãLçYç» YÒEÊõTö =¬JôTöç c÷'[ý ...................
AEõ×Oô Gçä»K÷Ì[ý \öçIøç %GÐ\öçG åGçQÍöç åUãEõ 15 ×]f VÉãÌ[ý \Éö×]ãTö &`ï Eõ×Ì[ýÌ̂ ç %çä»K÷* ̂ ×V Gç»K÷×Oô ]ç×Oô c÷+ãTö 8 ×]f =¬JôTöçÌ̂  \öçãIø Töã[ý Gç»K÷×OôÌ[ý YÒEÊõTö
=¬JôTöç c÷+ã[ý ...................

a) 20 m (×]f) b) 25 m (×]f) c) 30 m (×]f) d) 17 m (×]f)

66. The sum of two number is 20 and their product is 64. Then one of the number is ................
VÇOôç aeFîç» å^çGZõ_ 20 %ç»Ó YÉ»S 64 c÷ã_, Töçã» AOôç aeFîç ...................
VÇ+×Oô aeFîçÌ[ý å^çGZõ_ 20 A[ýe mXZõ_ 64 c÷+ã_, +c÷çãVÌ[ý AEõ×Oô aeFîç .................

a) 14 b) 16 c) 12 d) 8

67. For what value of p will the system of equation 3x+y = 1, (2p-1)x+(p-1)y = (2p+1) has no solution ?
p » ×Eõ ]çX» [ýçã[ý 3x+y = 1, (2p-1)x+(p-1)y = (2p+1) a]ÝEõ»S YÒSç_Ý» åEõçãXç a]çWýçX XçUç×Eõ[ý ?
p AÌ[ý ]çX ×Eõ c÷+ã_ 3x+y = 1, (2p-1)x+(p-1)y = (2p+1) a]ÝEõÌ[ýS YÒSç_ÝÌ[ý åEõçãXç a]çWýçX UçEõã[ý Xç ?

a) p = 2 b) p  2 c) p = - 2 d) p  - 2
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68. When Simple interest is charged, a certain principle amounts to Rs. 7400 in  4 years and Rs. 9200 in 7 years. Then

the rate of interest is ................
a»_ aÇTö» c÷ç»Tö åEõçãXç ]É_WýX» 4 [ý$K÷»» a[ýÊ×ˆù]É_ 7400 OôEõç %ç»Ó 7 [ý$K÷»» a[ýÊ×ˆù]É_  9200 OôEõç c÷ã_ aÇTö» c÷ç» ..................... c÷[ý*
aÌ[ý_ aÇãVÌ[ý c÷çãÌ[ý åEõçãXç ]É_WýãXÌ[ý 4 [ý»K÷ãÌ[ýÌ[ý a[ýÊ×ˆù]É_ 7400 OôçEõç A[ýe 7 [ý»K÷ãÌ[ýÌ[ý a[ýÊ×ˆù]É_ 9200 OôçEõç c÷+ã_ aÇãVÌ[ý c÷çÌ[ý ................ c÷+ã[ý*

a) 6% b) 8% c) 10% d) 12%

69. The distance of the point (2,0) from the origin is ..................
]É_ ×[ý³VÇ» Y»ç (2,0) ×[ý³VÇäOôç» VÇ»±¼ö ................
]É_ ×[ý³VÇ åUãEõ (2,0) ×[ý³VÇ×OôÌ[ý VÉÌ[ý±¼ö

a) 1 unit (AEõEõ) b) 2 units (AEõEõ) c) 4 units (AEõEõ) d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

70. Instruments used to draw a pair of parallel lines are ...............
Aã^ç» a]çÜ™ö»ç_ å»Fç %eEõS Eõ×»[ýê_ .................... aLÇ×_ ×c÷JôçãY [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
AEõãLçQÍöç a]çÜ™öÌ[ýç_ åÌ[ýFç %eEõX Eõ×Ì[ýãTö ................ ̂ Ü—ö ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *

a) Protractor and scale b) Compass and scale c) Set square and scale d) None of these
YÒäOôEõOô» %ç»Ó å•õ_ Eõ¶Yç$K÷ %ç»Ó å•õ_ æ$JôOô å•õç¾ç» %ç»Ó å•õ_ AOôçC Xc÷Ì^
YÒäOôEõOôÌ[ý A[ýe å•õ_ Eõ¶Yç»K÷ A[ýe å•õ_ åaOô å•õçÌ̂ çÌ[ý A[ýe å•õ_ AEõ×OôC XÌ^

71. If (^×V) a2+b2+c2 - ab - bc - ca = 0 then (åTöãÜ™ö)
^×V a2+b2+c2 - ab - bc - ca = 0 Töã[ý

a) a = b = c b) a  b  c c) a = b  c d) None of these
AOôçC Xc÷Ì^/AEõ×OôC XÌ^

72. (0.04)-1.5 = ...........

a) 25 b) 125 c) 250 d) 625

73. Factors form of (p2+q2-r2) - 4 p2q2 is .............
(p2+q2-r2) - 4 p2q2 » =dYçVEõ »ÖY ...............
(p2+q2-r2) - 4 p2q2 AÌ[ý =dYçVEõ Ì[ýÖY ...............

a) (p+q+r) (p+q-r) (p-q+r) (p-q-r) b) (p-q-r) (p2-q2-r2)
c) (p-q-r) (2p+2q+2r) d) None of these

AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

74. What is the single discount equivalent to a series discount of 20%, 10% and 5% ?
20%, 10%  %ç»Ó 5% [ýçvôç» æ`ÒSÝ a]Çc÷» a]TÇö_î [ýçvôç» c÷ç» ×Eõ]çX ?
20%, 10% A[ýe 5% [ýçvôçÌ[ý æ`ÒXÝ a]Éãc÷Ì[ý a]TÇö_î [ýçvôçÌ[ý c÷çÌ[ý EõTö ?

a) 81% b) 31.4% c) 31.6% d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂
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75. Divide 62 into two parts such that fourth part of the first and two-fifth part of the second are in the ratio 2:3.
62 Eõ VÇOôç \öçGTö AãXVã» \öçG Eõ»ç ̂ çãTö YÒU] \öçG» $JôTÇöUïçe` %ç»Ó ×¥TöÝÌ̂  \öçG» VÇ+ Y‡û]çe`» %XÇYçTö 2:3 c÷Ì̂ *
62 åEõ VÇ+×Oô \öçãG A]X\öçã[ý \öçG EõÌ[ý ̂ çc÷çãTö YÒU] \öçãGÌ[ý »JôTÇöUïçe` A[ýe ×¥TöÝÌ̂  \öçãGÌ[ý VÇ+ Y‡û]çeã`Ì[ý %XÇYçTö 2:3 c÷Ì̂ *

a) 24, 38 b) 32, 30 c) 16, 46 d) 40, 22

General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýS ×[ýpûçX

76. A body travels 200 cm in the first two seconds and 220 cm in the next four seconds. The velocity at the end of seventh
second from start is ............
AOôç [ýºwøã¾ YÒU] VÇ+ æ$JôãEõ‰øTö 200 æ$K÷f ×]f %ç»Ó Y»[ýwøÞ $Jôç×» æ$JôãEõ‰øTö 220 æ$K÷f ×]f VÇ»±¼ö %×TöyÔ] Eõ×»ã_ %ç»�ö×X» Y»ç aŠ] æ$JôãEõ‰ø» ×Y$K÷Tö
[ýºwøäOôç» å[ýG .................. c÷'[ý*
AEõ×Oô [ýºwø YÒU] VÇ+ åaãEõ³Qö 200 åaf ×]f A[ýe YÌ[ý[ýTöÞ »Jôç×Ì[ý åaãEõ³Qö 220 åa.×]. VÉÌ[ý±¼ö %×TöyÔ] Eõ×Ì[ýã_ £Ì[ýÓ åUãEõ aŠ] åaãEõã³QöÌ[ý YÌ[ý [ýºwø×OôÌ[ý
å[ýG .......... c÷+ã[ý*

a) 5 cm/s æ$K÷f×]f/åa.×].ô b) 10 cm/s æ$K÷f×]f/ä$af ×]f c) 15 cm/s æ$K÷f×]f/ä$af ×]f d) 20 cm/s æ$K÷f×]f/ä$af ×]f

77. A stone is thrown vertically upwards with an initial velocity of 14 ms-1. The acceleration due to gravity is 9.8 ms-2. The
time that the stone takes to strike the ground is ........... seconds.
AOÇôEÇõ»ç ×`_ 14  ×]/ä$Jô YÒç»×�öEõ å[ýãGã» CY»ê_ V×_Ì̂ ç+ ×VÌ̂ ç éc÷ä$K÷* ̂ ×V ]çWýîçEõbï×SEõ ±¼ö»S» ]çX 9.8 ×]/ä$Jô2 c÷Ì̂  åTöãÜ™ö ×`_ OÇôEÇõ»ç+ ]ç×Oô &`ï
Eõ×»[ýê_ a]Ì̂  _ç×G[ý ............. æ$JôãEõ‰ø
AEõOÇôEÇõÌ[ýç YçUÌ[ý 14 ×]/ãa YÒçÌ[ý×�öEõ å[ýãG =YãÌ[ý »KÇ÷äQÍö åVCÌ̂ ç c÷Ì̂ * ̂ ×V ]çWýîçEõbï×SEõ ±¼öÌ[ýãSÌ[ý ]çX 9.8 ×]/ãa2 c÷Ì̂ , Töã[ý YçUãÌ[ýÌ[ý OÇôEÇõÌ[ýç×Oô ]ç×Oô &`ï
Eõ×Ì[ýãTö ................ åaãEõ³Qö _ç×Gã[ý*

a) 2.86 b) 3.46  c) 4.86 d) 3.86

78. Inertia of motion depends on .............
G×Tö LQÍöTöç ................ » CY»Tö ×X\öÛ»`Ý_*
G×Tö LQÍöTöç .............. =YÌ[ý ×X\öÛÌ[ý`Ý_*

a) Mass b) Velocity c) Acceleration d) Displacment
\ö» å[ýG ±¼ö»S a»S
\öãÌ[ýÌ[ý å[ýãGÌ[ý ±¼öÌ[ýãXÌ[ý ØšöçX»JÇôî×TöÌ[ý

79. Two bodies of equal masses move with uniform velocities 'v' and '4v' respectively. Find the ratio of their K.E ?
AãEõ \ö» ×[ý×`rô VÇOôç [ýºwøã¾ yÔã] 'v' %ç»Ó '4v' aÇb] å[ýãGã» G×Tö Eõ×»ã_ [ýºwø VÇOôç» G×Tö`×Nþ» %XÇYçTö ............. c÷[ý*
AEõ+ \öÌ[ý ×[ý×`rô VÇ×Oô [ýºwø yÔã] 'v' A[ýe '4v' aÇb] å[ýãGÌ[ý G×TöãTö Jô×_ã_ [ýºwø VÇ×OôÌ[ý G×Tö`×NþÌ[ý %XÇYçTö ................. c÷+ã[ý*

a) 1 : 4 b) 1 : 16 c) 1 : 9 d) 1 : 1
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80. Which of the following is not matched correctly ?

Tö_» åEõçXäOôç a×PöEõ \öçã[ý a×#Tö Xc÷Ì̂  ?
XÝä»JôÌ[ý åEõçX×Oô a×PöEõ\öçã[ý a×#T XÌ^ ?

a) Force - Kg m/s b) Pressure - N/m2 c) Buoyancy - N d) Density -  kg/m3
[ý_ -- ×Eõf GÐç ×]/ä$Jô $JôçY -- ×X=OôX/×]2 YÀç×[ýTöç -- ×X=OôX HX±¼ö -- ×Eõf GÐçf/×]3

81. A person A does 500 J work in 10 minutes and another person B does 600 J of work in 15 minutes. If P1 and P2 are the
power delivered by A and B respectively, then ................
A + 10 ×]×XOôTö 500 LÇ_ Eõç^ïî a¶YçVX Eõ×»[ý Yçã» %ç»Ó B åÌ^ 15 ×]×XOôTö 600 LÇ_ Eõç^ïî a¶YçVX Eõ×»[ý Yçã»* ̂ ×V A %ç»Ó B » lù]Töç yÔã]
P1 %ç»Ó P2 c÷Ì̂  åTöãÜ™ö ...............
'A' 10 ×]×XäOô 500 LÇ_ Eõç^ï a¶YçVX EõãÌ[ý A[ýe 'B' 15 ×]×XäOô 600 LÇ_ Eõç^ï a¶YçVX Eõ×Ì[ýãTö YçãÌ[ý* ̂ ×V A A[ýe B AÌ[ý lù]Töç yÔã] P1 A[ýe P2

c÷Ì̂ , Töã[ý ....................*

a) P1 = P2 b) P1 > P2 c) P1 < P2 d) None of these
AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

82. Which of the following are elastic waves ?
Tö_» åEõçXäOôç ×Øšö×TöØšöçYEõ Tö»eG ?
XÝä»JôÌ[ý åEõçX×Oô ×Øšö×TöØšöçYEõ TöÌ[ý† ?

a) Light waves b) Sound waves c) X - rays d) Radio waves
ãYçc÷» Tö»eG `Œ Tö»eG »tX »×`½ å»×Qö% Tö»eG
%çã_çEõ TöÌ[ý† `Œ TöÌ[ý† Ì[ýtX Ì[ý×`½ åÌ[ý×QöC TöÌ[ý†

83. Heat needed to melt 1 kg of ice is .............
1 ×Eõf GÐç] [ý»Zõ G_ç[ýê_ ................. TöçY» YÒãÌ̂ çLX*
1 ×Eõ. GÐç. [ýÌ[ýZõ G_çãXçÌ[ý LXî ............. TöçãYÌ[ý YÒãÌ̂ çLX*

    a) 40 J b)   3.35X105 J       c)     80 J d) None of these / AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

84. Select the odd one.
%×]_äOôç [ýç×$K÷ =×_C¾ç -
%×]_×Oô [ýç×c÷Ì[ý EõÌ[ý -

a) Hydrogen b) Oxygen c) Steam d) Chlorine
c÷ç+QÎö'åLX %×jãLX [ýç¹Y zõ×»S / zõ×Ì[ýS

85. Calculate the weight of 0.1 mole of sodium carbonate.
0.1 ]'_ $K÷×QöÌ̂ ç] Eõç[ýïãXOô» CLX ×XSïÌ̂  Eõ»ç*
0.1 ]'_ åaç×QöÌ̂ ç] Eõç[ýïãXäOôÌ[ý CLX ×XSïÌ^ EõÌ[ý*

a) 1.06 g (GÐçf) b) 11.06 g (GÐçf) c) 10.6 g (GÐçf) d) 1.106 g (GÐçf)
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86. Which of the following is an ionic compound ?
Tö_» åEõçXäOôç %çÌ̂ XÝÌ̂  å^ìG ?
XÝä»JôÌ[ý åEõçX×Oô %çÌ^XÝÌ̂  å^ìG ?

a) HCl b) Na2O c) CO2 d) SO2

87. All chemical bonds are the result of ...........
aEõã_çã[ýç» »çaçÌ̂ ×XEõ [ýµù×X ................ » Zõ_Tö G×PöTö c÷Ì̂ *
aEõ_ Ì[ýçaçÌ̂ ×XEõ [ýµùXÝ ............... Zõã_ G×PöTö c÷Ì̂ *

a) interaction of nuclei b) interaction of electrons
×X=×zõÌ̂ ç$K÷» å^çLX +ã_Eõ®ÏôX» å^çLX
×X=×zõÌ^çãaÌ[ý å^çLX +ã_Eõ®ÏôãXÌ[ý å^çLX

c) difference in electronegativity d) interaction of the electrons and nuclei
×[ýVÇîd @Sç±ÁEõTöç» [ýî¾WýçX +ã_Eõ®ÏôX %ç»Ó ×X=×zõÌ̂ ç$K÷» å^çLX
×[ýVÇîd @Sç±ÁEõTöçÌ[ý [ýî[ýWýçX +ã_Eõ®ÏôX A[ýe ×X=×zõÌ̂ çãaÌ[ý å^çLX

88. The compound which contains both ionic and covalent bonds is ..............
%çÌ̂ XÝÌ̂  %ç»Ó ac÷ã^çLÝ =\öÌ̂  [ýçµù×X UEõç å^ìGäOôç éc÷ä$K÷ ...............
%çÌ^SÝÌ̂  A[ýe ac÷ã^çLÝ =\öÌ̂  [ýçµù×X UçEõç å^ìG×Oô c÷+_ --

a) CH3-CH3 b) CS2 c) HCN d) KCl

89. Which of the following is the formula of the compound nickel nitrate ?
Tö_» åEõçXäOôç ×XãEõ_ Xç+ä®ÏôOô å^ìG» aeãEõTö ?
XÝä»JôÌ[ý åEõçX×Oô ×XãEõ_ Xç+ä®ÏôOô å^ìãGÌ[ý aeãEõTö ?

a) Ni2 (NO3)3 b) Ni (NO3)2 c) Ni2 NO3 d) Ni NO3

90. Elements having 1,2 or 3 valence electrons in their atoms are  metal excepts ............
................ » [ýç×c÷ã» 1,2 [ýç 3 Oôç å^çLEõ +ã_Eõ®ÏôX UEõç å]ì_» Y»]çXÇã[ýç» WýçTÇö*
................. AÌ[ý [ýç×c÷ãÌ[ý [ýçEõÝ aEõ_ 1,2 [ýç 3 Oôç å^çLEõ +ã_kỗX UçEõç å]ìã_Ì[ý YÌ[ý]çXÇm×_ WýçTÇö*

a) H b) Cl c) Mg d) Na

91. The substance that is reduced in the following reaction is ................
Tö_Tö ×VÌ̂ ç ×[ý×yÔÌ̂ çäOôçTö ................. YVçUï ×[ýLç×»Tö éc÷ä$K÷*
XÝä»Jô åVCÌ̂ ç ×[ý×yÔÌ̂ ç×OôãTö ............... YVçUï ×[ýLç×Ì[ýTö c÷Ì̂ *

MnO2 + 4HCl  MnC2 + 2H2O + Cl2

a) MnO2 b) HCl c) H2O d) Cl2
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92. Osmosis is a process where ............. crosses the membrane.

%çaÊ×Tö AãX A×[ýWý YÒ×yÔÌ̂ ç ̂ 'Tö ............... åÌ̂  %ç¾»S å\öV Eõã»*
%çaÊ×Tö AEõ×Oô YÒ×yÔÌ̂ ç ̂ çc÷çãTö ................. %ç[ýÌ[ýXãEõ å\öV EõãÌ[ý*

a) Fats b) Proteins c) Water d) None of these
$Jô×[ýï YÒ'×OôX YçXÝ/ L_ AOôçC Xc÷Ì̂ / AEõ×OôC XÌ̂

93. Besides nucleus DNA is also present in ..............
DNA åEõçbãEõ³VÐ» =Y×»C ............... åYç¾ç ̂ çÌ̂ *
åEõçbãEõ³VÐ »K÷çQÍöçC DNA ............... YçCÌ̂ ç ̂ çÌ̂ *

a) Ribosomes b) Mitochondrion c) lysosomes d) Golgi complex
»ç+[ý'L]Tö ]ç+Oô'Eõ×³QÎöÌ̂ çTö _ç+$K÷'L']Tö G_×G aeHTö
Ì[ýç+[ýLã] ]ç+Oô'Eõ×³QÎöÌ̂ çãTö _ç+aLã] G_×G aeãH

94. Excretory materials are not found in ..............
................... Tö [ý×LÛTö YVçUï åYç¾ç Xç^çÌ̂ *
............... [ý×LÛTö YVçUï YçCÌ̂ ç ̂ çÌ̂  Xç*

a) Nuclear sap b) Cytoplasm c) Vacuole d) Hyaloplasm
åEõ³VÐ YÒ»a åEõçb YÒ»a »aWýçSÝ åEõçb YÒ»a
åEõ³VÐ YÒÌ[ýãa åEõçb YÒÌ[ýãa Ì[ýaWýçXÝãTö åEõçb YÒÌ[ýãa

95. Which of the following is a living  mechanical tissue ?
Tö_» åEõçX×[ýWý LÝ×¾Tö ̂ ç×Ü—öEõ Eõ_ç ?
XÝä»JôÌ[ý åEõçX×Oô LÝ×[ýTö ̂ ç×Ü—öEõ Eõ_ç ?

a) Parenchyma b) Collenchyama c) Scleren chyma d) All of the above
åYã»SEõç+]ç Eõ'å_SEõç+]ç æ`Àã»S Eõç+]ç CY»» %çOôç+ãEõ+Oôç
åYãÌ[ýXEõç+]ç Eõã_S Eõç+]ç æ`ÀãÌ[ýX Eõç+]ç a[ýEõÌ^×Oô

96. Blood is ............
»Nþ .................
Ì[ýNþ .................

a) Acidic b) Alkaline c) Neutral d) Watery
%ç×¶ÚöEõ lùç»EõÝÌ^/ lùçÌ[ýEõÝÌ̂ YÒ`×]Tö YXÝÌ^ç / L_ÝÌ̂

97. The plant cell without nucleus is ..............
åEõçbãEõ³VÐ ×[ýc÷ÝX =×àöV åEõçbäOôç .....................
åEõçbãEõ³VÐ ×[ýc÷ÝX =×àöV åEõçb×Oô .......................

a) Tracheid b) Trachaea c) Sclereid d) Sieve tube
æ®ÏôEõç+Qö X×_Eõç VÊRÍô åEõçb Jôç_XÝ X×_Eõç
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98. Which of the following is a micro nutrient ?
Tö_» åEõçXäOôç %XÇ åYçbEõ VÐ[ýî ?
XÝä»JôÌ[ý åEõçX×Oô %XÇ åYçbEõ VÐ[ýî ?

a) Potassium b) Zinc c) Calcium d) Magnesium
YOôç×$K÷Ì̂ ç] ×LeEõ åEõ_×$K÷Ì̂ ç] å]GãX×$K÷Ì^ç]
YOôç×aÌ̂ ç] ×LeEõ åEõ_×aÌ̂ ç] å]GãX×aÌ̂ ç]

99. The largest store of carbon molecules on earth is in ...................
YÊ×U¾Ý» ................ Eõç[ýïX %SÇ» [ýÊc÷wø] \öç‰øç»*
YÊ×U[ýÝÌ[ý ................ Eõç[ýïX %XÇÌ[ý [ýÊc÷w] \öç‰øçÌ[ý*

a) The atmosphere b) Fossil fuels c) Marine Sediments d) Living Organisms.
[ýçÌ̂ Ç]‰ø_ LÝ¾ç¹‚ +µùX açG»ÝÌ̂  %¾ãlùY LÝ×¾Tö YÒçSÝ
[ýçÌ̂ Ç]‰ø_ LÝ[ýç¹‚ +µùX açGÌ[ýÝÌ^ %[ýãlùY LÝ×¾Tö YÒçSÝ

100.Water harvesting is ...............
YçXÝ ae»lùS÷ ]çãX ...............
L_ aeÌ[ýlùS ]çãX ................
a) Collection of river water

XVÝ» YçXÝ aeGÐc÷ Eõ»ç
XVÝÌ[ý L_ aeGÐc÷ EõÌ[ýç

b) Collection of rain water in storage tanks as in the soil to recharge ground water
[ý»bÇS» YçXÝ æOôe×EõTö [ýç ]ç×OôTö ae»lùS Eõ×» \ÉöG\öÛ» YçXÝ» Ø™ö�ö ×XÌ̂ Ü—öS Eõ»ç*
[ýÊ×rôÌ[ý L_ æOôeãEõ [ýç ]ç×OôãTö aeÌ[ýlùX EõãÌ[ý \ÉöGã\öÛÌ[ý L_ Ø™öÌ[ý ×XÌ̂ Ü—öS EõÌ[ýç*

c) Harvesting of water from tube wells.
X_ÝXçV» YçXÝ a‡ûÌ̂  Eõ»ç
×Oô=[ýã_Ì[ý L_ a‡ûÌ̂  EõÌ[ýç

d) All the above.
CY»» %çOôç+ åEõ=Oôç
a[ýEõÌ^×Oô

XXX THE END XXX
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